
Exam2(A)
-

DatThere are 10x10 x26 = 2600 ATM codes

possible. There are 3000 customers (pigeas),
place them in 2600 holes by Athcode.

Since p = 3000 ch= 2600 , some hole-

Aim code has at least2 customers·

(b) 2600 ·3 + 1 = 7801
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(d) 20 edoes : didn't grade this
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Then Za-b = 2c-d and Zad= Le-f

by defa of R so La-b = 2c-d= ze-fa

La-b =Le-f => Labele ,71 by defi

·
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(b) ((4.7)] = S(a ,b) : 2 a - b = 2() -7 = 13

(-3 ,-7)6 [CY,] Since 263)-tt) =/

⑧ not reflexive , antireflexive e ,
symmetric no artisymmetric yes-1

transitive e).


